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SECTION - A
i) General Awareness

In which among the following States,
India’s first Defence University has
been set up ?

(A) Chandigarh
(B) Haryana
(C) Kolkata
(D) Hyderabad

Operation Blue Star was carried out by
Indian Army in

(A) Srinagar

(B) Shimia

(C) Pulwama

(D) Amritsar

Scientists have excavated ‘Ancient
River’ in which State that linked the
Ganga and Yamuna rivers ?

(A) Uttarakhand
(B) Bihar

(C) West Bengal
(D) Uttar Pradesh

. The word Pakistan was coined by

(A) Choudhry Rahmat Al

(B) Mohammad Ali Jinnah
(C) Liagat Khan

(D) Maulana Abul Kalam Azad

5. Buddhist leader Satyapriya Mohathero

has passed away recently. He was from

which country ?
(A) Myanmar
(B) Nepal

(C) Bangladesh

(D) Bhutan

Who was the first Minister of Commerce

and Industry of independent India ?
(A) Shyama Prasad Mukherjee
(B) B.R. Ambedkar

(C) Jawaharlal Nehru

(D) C.D. Deshmukh

Who is the newly appointed Chairman

of Chiefs of Staff Committee (CCS) ?
(A) Karambir Singh

(B) B.S. Dhanoa

(C) Sunil Lamba

(D) Bipin Rawat
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8. Which is the country with highest

10.

Thorium reserves ?
(A) China

(B) Kazhakstan
(C) India

(D) Australia

Irani trophy is associated with which one

of the following sports event in India ?
(A) Cricket

(B) Badminton

(C) Football

(D) None of the above

Who among the following Indian

Presidents died in office ?

(A) Fakhruddin Ali Ahmed and Zakir
Husain

(B)

(C)

Rajendra Prasad and V. V. Giri
Zail Singh and K. R. Narayanan

D)

Venkatraman and Shanker Dayal

Sharma

11.

12.

13.
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The Union Government has launched

Prakash portal to monitor
supply.

(A) Coal

(B) Petroleum -

(C) Water

(D) Electricity

Who was the last British Governor

General of India ?

(A) Lord Cornwallis
(B) Lord Rippon

(C) Lord Mountbatten

(D) Lord Irwin

Which State has bagged the best
State award for overall growth in

tourism category (2017-18) ?
(A) Telangana

(B) Kerala

(C) Andhra Pradesh

(D) Karnataka
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14.

15.

16.

17

Who is the MP of Ladakh ?

(A) Jamyang Tsering Namgyal
(B) Thupstan Chhewang

(C) Thuntsog Namgyal

(D) Syed Husain

The NITI Aayog and which intemational
organization has launched ‘The
Gandhian Challenge’ ?

(A) UNFP
(B) UNICEF
(C) UNESCO
(D) WHO

World's first fully solar powered airport
is located in which country ?

(A) UAE
(B) Singapore

(C) India

(D) United States of America

Which oil company has launched drive
to turn plastic to specialized bitumen ?

(A) Indian Qil Corporation

(B) Qil and Natural Gas Corporation
(C) Hindustan Petroleum

(D) Gas Authority of India Limited

18. Who was the Founder, Director and

19.

20.

Professor of Physics at the Tata Institute

of Fundamental Heseérch ?
(A) Anil Kakodkar
(B) P.K. lyengar
(C) Homi Jahangir Bhabha

(D) Homi Sethna

Who is the author of the book “Third
Pillar” ?

(A) Raghuram Rajan

(B) Shaktikanta Das

(C) Manmohan Singh

(D) None of the above

Who has been conferred the ‘the most
effective Swachchta Ambassador’

Award in 2019 ?
(A) Sachin Tendulkar
(B) P. V. Sindhu

(C) Virat Kohli
(D) Mary Kom
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21.

22.

23.

24.

ii) General Intelligence and Reasoning Ability

In a family of 6 members, B has 2
daughters and an unmarried son. N is
Q's (female) brother-in-law. ‘L’ has a son
‘S’. Qis F’s sister. Bis L's father. Then
FisS's

(A) Aunty
(C) Father

(B) Brother
(D) Uncle

2,7,16, 2, 46, 67, 92.
(A) 36 (B) 35
(C) 29 (D) 41

Find the wrong number in the
sequence :
1, 3,9, 31, 128, 651, 3913

(A) 31
(B) 128
(C) 651
(D) 3913

Clothes, garment and shirt can be
shown by

B CIC
® @O

- @D

25.

26.

Two numbers whose sum is 32 and
product is 256, are

(A) 24,8
B) 16,16
©) 27,5
(D) 20, 12

How many even numbers are there
in the following sequence of numbers
which are immediately followed by an
odd number as well as immediately
preceded by an even number ?
8676893275342235
5228119

(A) One
(B) Five
(C) Three
(D) None of these

Questions 27 — 28 :
Read the following information to answer the

questions.

Number: 1 2 3 4 5 6 7 8 9
Symbol: x * ?2 + $§ e + | A
i. If any number begins by odd number,

27.

then the odd number is symbolised by @.
If any number ends by even number,
then the even number is symbolised
as©.

Which of the following will be symbol
of6732587

(A) o +72+$!
(C) @?%«!

B) @72+$!
(D) «+?80©
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ii) T glgwn qut arfhe Trgar

6 TEE % U URan ®, B # 3 afeai 2
3 T AfaaTiea g eI N, Q (Ffem) &
SR I UFIT SR IQ FRTEARI

B, L& I aTF, S&7 Bl
(A) =Tt (B) w®
(C) foam (D) ==

2,7,16, 2, 46, 67, 92.

(A) 36 (B) 35
(C) 29 (D) 41
st 3 e He g A |
1,3,9, 31, 128, 651, 3913
(A) 31

(B) 128

(C) 651

(D) 3913

FUeT, I I FH FALEuld
ATEFAE |

®» Q0 O
® @O

- @D

25. 9% qrEEd He-Hi e 3 32 siv

U 256 8 7
(A) 24,8

(B) 16, 16
(C) 27,5
(D) 20,12

26. Py de e fhah an geard
T TR 7
8676893275342235
5228119

(A) @
(B) =
©) =
(D) F8 &+ el
T 27 - 28 :
T 1 I A F Fore Freforfea gemm e eaw
¥ ufen |
weat: 12 3 4 5 6 789
hd Xt B B e e HL A
i, Tfe =+ gea v g @ yE et e,
T Rwm dEn T EFa @ B |
i, afe g e on Tt A A el @,
TH T FHT HHd © TAT |
27. 67325 8% Tha Fe=ififaa # @ 7
BRI 2
(A) e+2+8$!
(C) @2%+!

B) @?7+%!
(D) e+?2$0©
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28.

29.

Which of the following will be the symbol
of 178524 ?

(A) @+!$+0
B) x+!$©

C) @!$*+

(D) None of these

A player holds 13 cards of four suits of
which seven are black and six are red.
There are twice as many diamonds as
spades and twice as many hearts as
diamonds. How many clubs does he
hold ?
(A) 4
(B) 5
(C) 6
(D) 7

Questions 30 - 34 :
A B, C, D, E, F and G are sitting on a wall
and all of them are facing East. C is on the

immediate right of D. B is at an extreme end
and has E as his neighbour. G is between E
and F. D is sitting third from the South end.

- 80. Who is sitting to the right of E ?

-10-

(A) A
(B) D
) C
(D) None of these

31.

32.

33.

34.

Which of the following pairs of people
are sitting at the extreme ends ?

(A) AB
(B) AE
(C) CB
(D) FB

Name the person who should change
places with C such that he gets the third
place from the North.

(A) E
(B) F
©€) G
(D) D

Immediately between which of the
following pairs of people is D sitting ?
(A) AC
(B) AF
(C) CE
(D) CF

Who is at the centre ?
(A) B
(B) D
(C) F
(D) G
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28. 178524 & Taha FAferaa & A
FATEN 2

A @+1%+0
B) x+!$0©
C) @1$*+
(D) T A=K T

29 e F M A T & 13 T ©
o @ 79 i S: I ? | R g
FEITM AR R FI ML FHE
6% A T F 7 | 39k T R &

PR TE?
(A) 4

B) 5
(C) 6

(D) 7

W1 30-34:

A, B, C, D, E, F 31K G T SR W3 & M msft
FHEEAS ICOF T | B Rrerga fmmi
REINEINF TSR |G, EIMFF LRI

D aféfi 8 @ dmT 2 |
30. EFTRFAR?
(A) A
B) D
) C
(D) 38 & HIE T
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31.

32.

33.

34.

MKG-XXVIVTECHM/1T/06

Frefofes # @ safeaar &1 sR-w1 3w
forega BRI T R 2

(A) AB

(B) AE

(C) CB

(D) FB

34 a1 9W Faee ¢ & ay ™H
TS IR afh 98 IR A di9 TWH |
AGF |

(A) E
(B) F
©) G
(O) D

DiFagmF gadfaders ?
(A) AC

(B) AF

(C) CE

(D) CF

FEAFAR 2

(A) B

®) D

(C) F

(D) G
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35, Completle the mat'n'x.
51 63 29
26 14 48
5 8 ?
410 | 680 | 580
(A) 9
(B) 6
€ 5
(D) 7

36.

37.

-12-

A worker may ciaim Rs. 15 for each km
which he travels by taxi and Rs. 5 for
each km which he drives his own car.
If in one week he claimed Rs. 500 for
travelling 80 km, how many kms did he
travel by taxi ?

(A) 10
(B) 20
(C) 30
(D) 40

Statements :
Some pens are books.
Some books are pencils.
Conclusions :
|. Some pens are pencils.
Il. Some pencils are pens.
I1l. All pencils are books.
V. All books are pens.

(A) All follow

(B) None follows

(C) Only | and lil follow
(D) Only Il and 1V follow

38.

39.

40.

Complete the series :
138, 161, 185, 210, ?

(A) 216
(B) 236
(C) 258
(D) 272
If PRATAP could be given the code

number 1618120116, then NAVIN is

coded as

(A) 73957614
(B) 24639125
(C) 14122914

(D) 19274651

Select the number which is different

from the rest three.
(A) 9611
(B) 7324
(C) 2690

(D) 1754
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51 63 | 29
26 | 14 | 48
5 8 ?
410 | 680 | 580
A 9

(B) 6

(C) 5

(D) 7

T FHIR) F | I H 15 %, i
3R AT R H %, 5/ Tt 1 g R weman
? | If w owae # @' 80 fFt & forw
%, 500 1 TET FTT 2, a9 o @
et ot aEn Y 2

(A) 10 -

(B) 20

(C) 30

(D) 40
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(C) Faet | 37 1] ST F &
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38.

39.

40.
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138, 161, 185, 210, ?
(A) 216
(B) 236
(C) 258

(D) 272

Ifd PRATAP #1%¢ 1618120116 3, 1
NAVIN &1 2 21

(A) 73957614
(B) 24639125
(C) 14122914

(D) 19274651

& HET IR s s AT e |
(A) 9611
(B) 7324
(C) 2690

(D) 1754
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41.

42.

43.

iii) Arithmetical and Numerical Ability

337.62 +8.591 +34.4 =7
(A) 370.611
(B) 380.511
(C) 380.611

(D) 426.97

if the angle of elevation of a top of a
tower from a point 100 metres from it,
is 30°, then the height of the tower will

be,

&) 1_00;/§m

(B) 1043m

(C) 30 V/3m

(D) none of these

The sum of two numbers is 25 and their

difference is 13. Find their product.
(A) 104
(B) 114
(C) 315
(D) 325

44.

45.

46.

(1000)” = (10)'8=?
(A) 10

(B) 100

(C) 1000

(D) 10000

fA:B:C=2:3:4,then
is equal to

. .
. .

o>
>0

B
C
(A) 4:9:16
(B) 8:9:12
(C) 8:9:16
(D) 8:9:24
A does a work in 10 days and B does
the same work in 15 days. In how many

days, they together will do the same

work ?

(A) 5days
(B) 6 days
(C) 8days

(D) 9 days
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41. 337.62+8.591 +34.4="7 44. (1000)" + (10)'®= ?
(A) 370.611 (A) 10
(B) 380.511 - (B) 100
(C) 380.611 (C) 1000
(D) 426.97 (D) 10000
A2 TRERCH R Cs S 00 45, ﬂﬁA:B:C=2:3:4,€f%:%:%=
F Far | 30° 2, O T F F= Bt o
L | (B) 8:9: 12
3
C) 8:9:16
(B) 1043m ©
(D) 8:9:24
(C) 30 V3m
(D) T @ FE T 46. A& FE &1 10 fet § 3k B 3ot
H115 T § g e §1 3w gy et
43. 1 TEIAR FHTAM 257 3K 3 13 2| e 7 ) R i 2
ITHT OHTA F1d L
(A) 5f&=
(A) 104
(B) 6fa
(B) 114
(C) 315 (C) 8fa
(D) 325 (D) 9f&

-15-
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47. Find the odd man out.

48.

49.

50.

1, 4,9, 16, 23, 25, 36
(A) 9

(B) 23

(C) 25

(D) 36

Which term comes next in the sequence
AC, FH, KM, PR, ?
(A) UW
(B) VW
(C) UX
(D) TV
1:2::2(—:?
J H
(A) 2
(B) 3
©) 2

7
(D) 4

If A=26, SUN =27, then CAT = ?
(A) 24
(B) 27
(C) 57
(D) 58

51.

52.

53.

A 0 00 O N A

If P means +, T means +, M means —
and D means x, then what will be the
value of the expression
12M12D28P7T 152

(A) =30
(B) -15
(C) 15

(D) None of these

Find the correct number for ‘?’

18 | 24 | 32
12 '11 16
3 ? 4
72 | 112 128

(A) 2

(B) 3

(C) 4

(D) 5

The total number of digits used in
numbering the pages of a book having
366 pages is

(A) 732

(B) 990

(C) 1098

(D) 1305
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47. wdun = sifew)
1,4,9, 16, 23, 25, 36
(A) 9
(B) 23
(C) 25
(D) 36

48. HTATH IWTAT S FAT TN 2
AC, FH, KM, PR, ?
(A) Uw
(B) VW
(C) UX
(D) TV

49,

I\)

. X5
“H

’§r-|—|

)
B)

—
_\‘im w N

(C)

(D) 4

50. IR A =26, SUN=27 R CAT =2

(A) 24
(B) 27
(C) 57

(D) 58

=17
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51. AR PRt + 8, THTanf +2, M

52.

53.

af — 2 3R D =1 31 x 2, A vty
12M12D28 P 7 T 15 ST HH FATEFI 2

(A) -30

(B) -15

(C) 15

(D) T =R T

7" ¥ W& T J1A R |
18 24 | 32
12 | 14 '] ‘18
3 ? 4

72 | 112 | 128

A) 2
®) 3

(C) 4

D) 5

366 T3 HI TH JEE % TSI Al HEAT
S 3 T ) et e
(A) 732 |
(B) 990

(C) 1098

(D) 1305
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54.

55.

56.

A man is facing West. He turns 45° in
the clockwise direction and then another
180° in the same direction and then
270° in the anti-clockwise direction.

Which direction is he facing now ?
(A) South

(B) North-West

(C) West

(D) South-West

Find the missing number
4, 8, 28, 80, 244, ?

(A) 278

(B) 428

(C) 628

(D) 728

Botany : Plants :: Entomology : ?
(A) Snakes

(B) Insects

(C) Birds

(D) Germs

97.

58.

99.

60.

Choose the analogous pair.
Darkness : Lamp

(A) Fatigue : Exercise
(B) Thirst : Water

(C) Medicine : liiness
(D) Study : Classroom

Ramesh solved %

while Seema solved i of it. Who solved
lesser part ?

(A) Ramesh
(B) Seema
(C) Both solved same part
(D) Cannot be determined

2 1
E — -
valuate 2 3 +3 5

part of an exercise

(A)
(B)

(©)

(D) None of these

The probability of obtaining an even
prime on each die, when a pair of dice
is rolled, is

A) 0

1
B) _
® 1
©

g~ ©

(D)



0 0 0 00 0000 0 0

54.

55.

26.
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us AfF ufeem i v q@ e 2 9
45°Erg“ra?rq§ﬁﬁmﬁgsm%ﬁmﬁ
faemd 180° gear it R wdt fr g it
faaa faem § 270° sy 21 3@ 9= fohm
T # He foRu @ 2

(A) af&ro

(B) Iw-ufz=m

(C) witm

(D) afaror-ufe=m

Jed HEAT AR |
4,8, 28, 80, 244, ?
(A) 278
(B) 428
(C) 628

(D) 728

TR e Fe-fagm 2
(A) €fa
(B) @t
(C) uft

(D) Ty

57.

58.

59.

60.
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THEY I FAT |
YT : AT

(A) 9FH : A
(B) WM : A
(C) <ar: &y
(D) STETTA : HEdT

rﬁm?rqaaaxwm% 2 R Frea R
i T 4%@@@%1%
m%@ﬁ%ﬁﬁmv

(A) T

(B) ¥

(C) M auH e =i g foram

(D) T =&t T s aar

M JTa I 2— |

32
A S
()6

37
(B) o

39
6

(D) ¥ &% T
el T T o6 7 e ST e, 1 ek U T

T T ST T T B et e &
(A) 0

(B)

(C)

(C)

SRR

(D)



61.

62.

63.

64.
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iv) Hindi Language and Comprehension
&= uman sk Sy
‘Tere @ afy =T @ 66. Tty - gitfiea weg I 1 we onf 2
(A) WY+ 3fY (A) iFa - e
(B) We + 3frefr (B) e - HIEH
(C) WErE + (C) fteg = wewy - e ma
(D) WET + Faf (D) TR - FaTerenr
et e s 67. ‘9% G A Wl Yaifa fnfador
K e NEAE R AR
(A) WS

(B) gHiie FTe (B) FREREH
() ﬁ‘ﬂm (C) Tfeames
(D) =¥ (D) TR
i’ e s wfifem w7 2 68. frafrfaa i & Y@ T -T2 ?
(A) meffat (A) T
(B) sfeft (B) W=
(C) meffrror (C) wE=
(D) g (D) w&H
"SRRI J ST R | @it wes 69. ‘T’ yreg = fAam 2
e @ () FE
(A) FUTEHRR (B) fawrg
(B) 3T & () e
(C) HaY FH (D) ré e
(D) =13 i

65.

T3 9re 3w =Tfew) Y@ifha v see
F R AT R

(A) fETETES a9y

(B) ¥EIETE fARryor

(C) TE=THe farsyor

(D) 1§ T&

70.

Freforfea & @ - e 9Riwg
FARR?

(A) H ATIHT T § |

(B) R AT Teiter &

(C) &3 YT e form

(D) ¥ g&Ta TG AT 9|



71

72,

73.

74.

75.

=201~

‘& o’ g wnE W R 7
(A) FH

(B) TFEYEH

(C) Tay

(D) =W

‘T e et st | s e WEied
IS B

(A) =T
(B) Tamar Aoy
(C) =1 gy
(D) =d

‘afa+dar’ - s ug e afd wsgEm
(A) wfaem

(B) wifaa

(C) weftair

(D) 378 oy

‘o g T ETet @ ot R
(A) I = e

(B) AT 61 ST T

C) TR FAT

‘S Y g T w e g
(A) 3TE9g ¥ W e
(B) “THE HEA

(C) @R e ge

(D) wEFEETl ® S R

76.

2

79.

80.
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= o @ e - frm frg st v #
yefora e @ 7

(A) ;

®) ,

€ !

(D) !

TR B AU T AN 2 WA B
(A T

(B) T T

(C) §FFa I

(D) T8 & HE 7l

“qrr-gry wmiie g % e g
(&) Y ¥ Y

B} U9 6T 0

(C; TR D

(D) T Y

fr e ¥ U g R E 9=
e

(A)

(B) @251

(C)
(D) @AM

Fiefarfaa ® & % w1 2w D
e a gefm ?

(A) T GE@Ie!

(B) &8 GWT & 21

(C) & T @R |1 74Tl

(D) T T )

TIEE
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v) English Lapguage and Comprehension

given options :

ST | SR Ay

Fill in the blanks with correct word from the 85. It's a book

will interest
children of all ages.

' _ ) wWho
81. The postman hasn't come __ (B) whom
(A stiil (C) which
(B) tili (D) when
(C) yet Fill in the blanks with appropriate articles :
(D) none of the above '
86. boy, who stood first,
82. |am going to down for was given a prize.
a few minutes. (A) A
: 3) An
(A) lie ?m The
(B) lay (D) No article needed
(C) lain . .
87. Commonsense is great virtue.
{D) none of the z2bove A) a
83. | the papers on the table. (B) an
(C) the
A) |
) lay (D) no article needed
(B) layed
(©) laid 88. He left school at an early age.
. (A) a
(D) lain (B) an
Use appropriate relative proncun to fil in the (C) the
blanks (D) no article nzeded

84. He is married somebody
| really don't like.

(A) who
(B) what
(C) which
(B) none of the above

-09-

Select syitabie question tag for the following
sentences :

89. Itis rather hot today, ?
(A) is it
(B) isn'tit
(C) was it
(D) wasn'tit




O 0 OO0 0O

90. You want this book,
(A) don’t you
(B) do you
(C) canyou
(D) can't you

91. The match won’t be cancelled,
2

(A) won’t you
(B) will you
(C) won'tit
(D) will it

Select the sentence which has a transitive

verb :

92. (A) Many trees fall in the monsoon.

(B) Rise early with the lark.
(C) Woodmen fell trees.
(D) Sit there.

93. (A) The girl ran down the street.
(B) We shall stop here.

(C) The show opens at six O’ clock.

(D) He broke the glass.

Select the sentence which has an error:

94. (A) The horse and carriage are at

the door.

(B) The ship, with its crew, was lost.

(C) No nook or comer was left
unexplored.

(D) Many a man has done so.

95. (A) He gave me an advice.

(B) The scenery here is very good.

(C) Between you and me affairs
look dark.

(D) Each of the girls gave her own

version of the affair.

MKG-XXVIIVTECHM/1T/06

Select the antonym of the words in capital :

96.

97.

CARNAL

(A) wild (B) natural
(C) spiritual (D) heathen
IDLE

(A) busy (B) wrongful

(C) felonious (D) criminal

Select the synonym of the words in capital :

98.

99.

CONTRITE

(A) rueful (B) remorseless
(C) impenitent (D) hurtful
REPEAL

(A) annul (B) keep

(C) continue (D) say again

Punctuate the following :

100.

‘How clever of you to have solved the
puzzle so quickly said the mother.

(A) “How clever of you to have solved
the puzzle so quickly ? said the
mother.

(B) How clever of you to have solved
the puzzle so quickly, said the
mother.

(C) ‘How clever of you to have solved
the puzzle so quickly,’ said the
mother.

(D) ‘How clever of you to have solved

the puzzle so quickly’ said the
mother. !
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SECTION-B
Post Specific Subject — Related Questions

-24-

101. Theinnermost central portion orcore of | 106. Standard size of brick is
the tree is called (A) 200 mm x 100 mm x 90 mm
() heawood (B) 190 mm x 90 mm x 90 mm
) Carmbite | dyer (C) 180 mm x 80 mm x 80 mm
Eg; hSﬁ:sL:\lrod (D) 190 mm x 100 mm x 90 mm
. _ 107. Normal range (percentage) of lime in
102. ;:?:::ergiilded with a rounded angle ordinary cement is
(A) Bullnose brick (A) 62-67%
(B) Hollow brick (B) 52-57%
(C) Channel brick (C) 72-77%
(D) Copping brick (D) 42-47%
103. Code of practice for plain and reinforced | 108. A connection which is formed when a
concrete is wall takes a tumn is known as a
(A) IS 516-1959 (A) Quoin
(B) 1S 269-1989 (B) Joint
(C) IS 456-2000 (C) Course
(D) 1S 457-1957 (D) Bond
104.  Commonly used test to check the 109. The exogenous trees are subdivided
workability of concrete in field is into groups.
(A) Slump test (A) Three
(B) Shape test (B) Four
(C) Impact test (©) Two
(D) Crushing test (D) Five
_ 195' iﬁﬂg';e:;;egi Qncsient &5 periofed 110. The natural cement is in color.
(A) Le Chatelier apparatus (A) Black
(B) Pycnometer (B) Brown
(C) Vicat apparatus (C) Grey
(D) Briquette mould (D) White



101.

102.

103.

104.

105.
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M-
uree Tafirfees Rreg—deet =

F&T ! STTAH HET T AT _
FEAAR |

(A) TR gE

(B) Hferm wa

(C) Fgem

(D) AT

T TICTRR 107 el STeht 718 Ua 32
 Eddie |

(A) gors §2

(B) ErEeftse

(C) ¥

(D) ifdm 32

TUTE 3R GRIHd Fh1e ¥g HE T 2
(A) IS 516-1959
(B) 1S 269-1989
(C) 1S 456-2000
(D) 1S 457-1957

FHed | Fehle il FHRAmIT & T
T S AT e 2

(A) T ThE

(B) 3R TXi&A0T

(C) T Teror

(D) HTEmT wieror

Hiwre 1 SEat Te
TEaT A RS R |
(A) T =efer v
(B) Toenfrex

(C) dTEEHE I
(D) Toerde Aiee

106.

107.

108.

108.

110.

MKG-XXVIIVTECHM/1T/06

3¢ T S THR 2

(A) 200 mm x 100 mm x 90 mm
(B) 190 mm x 90 mm x 90 mm
(C) 180 mm x 80 mm x 80 mm
(D) 190 mm x 100 mm x 90 mm
TR e § = 6 A
(wfderar) 2

(A) 62-67%

(B) 52 -57%

(C) 72-77%

(D) 42-47%

T U SR ¥ HIE AT 2 a1 Toh S F7aT
?, S0 FEATATR |

(A) T3

(B) SaEe

(C) =

(D) =78

%aﬁaﬁaqaf_ HET ¥ IfawTira
|

(A) o

(B) =T

(C) =

(D) U=

s lcanckeiraca b S
(A) =

(B) T

(C) =&

(D) ¥&d

BaTe |
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5

112

113.

114.

The term is used to indicate
a paste prepared by adding required
quantity of water to a mixture of binding
materials like cement or lime and fine
aggregate like sand.

(A) Concrete
(B) Mortar

(C) Painting
(D) Masonry

Most widely used cement for general
construction work is of grade

(A) 33 grade
(B) 43 grade
(C) 53 grade
(D) 63 grade

Timber containing in a living tree is
known as

(A) Rough timber
(B) Converted timber
(C) Standing timber
(D) None of these

Dimension of Manglore tiles is

(A) Effective length — 340 mm, effective
width — 215 mm

Effective length — 300 mm, effective
width — 200 mm

Effective length — 360 mm, effective
width — 250 mm

Effective length — 330 mm, effective
width — 225 mm

(8)

(©)

(D)

115.

116.

117.

118.

119.

Y0 0O DO A A

Mechanical devices which are used to
compact concrete in the formwork are
known as

(A) Vibrator

(B) Mixer

(C) Sieve shaker

(D) None of the above

Mix proportion of M20 grade concrete
is

(A) 1:4:8

1
B) 1:15:3

C) 1:2:4
D) 1:1:2

Timber of mango tree is —
colour.

(A) Deep grey
(B) Red

(C) Brown

(D) Whitish red

absorbs, refracts or transmits
light.

(A) Stone
(B) Glass
(C) Brick

(D) Timber

Proportion of cement mortar for damp proof
course and cement concrete road is

(A) 1:4
(B) 1:6
C) 1:2
(D) 1:3
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L 60

112.

113.

114,

-97-

eq Hide 71 9 of 7|
TN T TR TF
Trgor § 5w &1 Fifesd 7T SR & T

AR v T ww ey i &
T ? |

(A) FhTE
(B) ARW
(C) T
(D) Tormé

g i st & R ggiftes wwm i
TR He NI wdR |

(A) 3373

(B) 4378

(C) 5378

(D) 6378

LEASHE G (RS G o
et 2 |

(A) GE &S

(B) EUTaRd wHe!

(C) TfEm wws

(D) T & H 7

Hreiw e A AT R

(A) T FaE - 340 T,y el
- 215 o)

(B) T T — 300 Tt wEt rer
- 200 fe=di

(C) ot o - 360 filt, et e
- 250 fasft

(D) St e ~ 330 e, et e
- 225 i)

115.

119.

116.

117,

118.

MKG-XXVIVTECHM/1T/06
FHIT I FE F T F T FH & IC
FEAW © |
(A) TREH
(B) e
(C) 3 et
(D) 3FIH YR ALl
M20 T #ehTe =1 fisor 3T 8
(A) 1:4:8
(B) 1 :1—12-— :3
(C) 1:2:4
D 1:1:2
A gE F THS HIU R
Ay TR =

(C} %@
(D) & A

G Y ENNTG, Tgafad
IR gufE FET |

(A) TeT

(B) ®=

©) £

(D) s

el % 37 2
(A) 1:4
B) 1:6
(C) 1:2
(D) 1:3
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120. Laterite stone is an example of

121.

122.

123.

124.

rocks.

(A) Igneous

(B) Sedimentary
(C) Metamorphic
(D) None of these

Marbie is used for

(A) Ornamental work
(B) Facing work

{C) Flooring

(D) All of the above

consists of two or mere
individual footings connected by a
beam.
(A) Spread footing
(B) Strap footing
(C) Mat footing
(D) Pad footing

The vertical wall face of an opening
which supports the frame is called

(A) Rebate
(B} Transom
(C) Jamb
(D) Sash

The highest centiral wedge shaped unit
of an arch is called

(A) Voussoirs

(B) Key stone

(C) Abutmenis

(D} Arcace

125. The capacity of flushing cistern is
(A) 5to 10 liters
(B) 1to2liters
(C) 10to 15 liters
(D) 251040 liters

126.

In foilowing figure, shaded plane
ABCD is

(A) Parallel to VP
(B) inclined io HP
(C) Paraliel to HP
(D) None cf these

127. The following symboil is used for

777

Naturai stone
Brick
Earth
Giass

128. Dimensions of D2 drawing board in

‘mm’ is

(A) 750 x 500
(B) 500 x 350
(C) 600 x 500
(I 1000 x 700



U 00O 000 ) 0 0 O

120. AAEE TR EEEER S

121.

122.

123.

124,

GRS

(A) IMT

(B) 3=gTe

(C) Frmaia

(D) TH @ =1 &l
AT

(A) TEA wE
(B) w% F
(C) =3 &R

(D) 3Fq Gt

% foTe W Erar |

Tfe 31 91 It e 3R U yof @
I8, AW FEA 8

(A) B e

(B) Ve

(C) A e

(D) e g

BIE ! WEWT ATt T T &) et
IR FoAH FedATT 2

(A ez

(B) Imm

(C) =

(D) aw

T AT 1 aTed Hard =1 & R
WE_____ FEAIR

(A) g

(B) A

(C) reramn

(D) IFS
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125. WM ITcfl gie & arfar @

126.

127.

128.

(A) 5% 10X
(B) 1¥ 2

(C) 10¥ 15fiX
(D) 257 40 #X

Frafarfaa fos # smifea 9=t ABCD 2

(A) VP & THTaT
(B) HP & 3=a

(C) HP F WHTR
(D) 3 @ +1E T
Freforfae wera
qraral

:
9 s 7’
ll # Y
’ 7’
£ l,‘I,

(A) VT TR
(B) %
(C) et

(D) F1=

D2 & IR@u a1 F et # g 2
(A) 750 x 500

(B) 500 x 350
(C) 600 x 500
(D) 1000 x 700

& forq vz

7 s
i
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129.

130.

131.

132.

133.

Which material is used for sewer ?
(A) Stoneware

(B) Castiron

(C) AC pipes

(D) All of the above

The rubble masonry in which stones are
laid without forming courses is known as

(A) Un-coursed rubble masonry

(B) Dry rubble masonry

(C) Coursed random rubble masonry
(D) Flint rubble masonry

Cantilever projections from the face of
the wall over an entry to the building at
the lintel or slab level is known as

(A) Canopy
(B) Sunshade
(C) Slab

(D) Beam

In cavity wall, the width of cavity should
not be less than and not more
than

(A) 50 mm, 115 mm
(B) 20 mm, 30 mm
(C) 115 mm, 215 mm
(D) 100 mm, 200 mm

In the following figure, shaded portion
represents

(A) Mitred closer
(B) Queen closer
(C) Beveled closer
(D) King closer

134.

135.

136.

137.

138.

AT 0 0RO

A tool with long edge and a thick head
and used for reducing the size of stone
is known as

(A) Jumpers
(B) Pick axe
(C) Pitching tool
(D) Mallet

A vertical window provided on the
sloping roofs are called as

(A) Dormer window
(B) Bay window

(C) Corner window
(D) Gabble window

The term is used to denote
the finishing of mortar joints of either
stone masonry or brick masonry.

(A) Painting
(B) Piastering
(C) Pointing
(D) Masonry

The horizontal platform between two
flights of a stair is known as the

(A) Landing
(B) Flight
(C) Step

(D) Soffit

Standard size of glazed tile is
(A) 150 x 150 x 5 or 6 mm
(B) 120 x 120 x 4 or 5 mm
(C) 160 x 160 x 6 or 7 mm
(D) 200 x 200 x 6 or 10 mm



00 O 0O R
129, e 3 e -1 varel g € @ 7

130.

131.

132.

133.
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(A) e

(B) gowal ATl
(C) AC ™
(D) 3Fd At

e o o v fom sarwae 1
TIH §HE @ I & FEA & |
(A) YaTRIRd TG MR

(B) I TG R

(C) WaTegFd Ao e Forms

(D) T Jeet &t TG (AR

fes 91 U2 T W 3HRE | U v &
T TR F HAw § EAs JEI
| FHEATA & |

(A) A

(B) BHT[E
(C) &i&
(D) eruft

forfa # T = q
Ea%l & ot i o =Ry
(A) 50 farft, 115 et
(B) 20 fast, 30 o
(C) 115 Y, 215 fordt
(D) 100 fdft, 200 T

Pr=fRifaa foe # st 9 9 8

N
(A) HieE T

(B) T FEASR
(C) SATS FARK
(D) & TR

134.

135.

136.

137.

138.
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T TR 3 v 7R 3t Sre v I
I e & TR 1 HH FHA o T T
TaTe

(A) e

(B) Tuer ww

(C) fafém @

(D) #ee

EAa T Sl I & T 1ol U Seater Rageh
FEATd 2|

(A) erit gt

(B) < Ra=s#hl

(C) =i RasH

(D) T g

1 d@ eer R I g
ﬁ?@%ﬁzﬁmﬁmmaﬁﬁﬁm
REd BT |
(NREEEL
(B) ITER TRTHT
(C) wmfem
(D) formd

% e F 31 IS & " Afed wiewH
FEATd 2 |

(A) I8

(B) I=H

(C) T

(D) T

JuHIA T T TS IHR 2
(A) 150 x 150 x 5 37 6 T
(B) 120 x 120 x 4 71 5 foref}
(C) 160 x 160 x 631 7 fsft
(D) 200 x 200 x 6 1 10 fAsft
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139.

140.

141.

142.

143.

-32-

Timber pieces, which are provided over
the top of a stone or brick wall for the
purpose of fixing the feet of the common
rafter are known as

(A) Battens
(B) Wall plates
(C) Purlins
(D) Template

In order to check the invert level of
sewers, the is used.

(A) Tape

(B) Leveling staff
(C) Ranging rod
(D) Boning rod

used for

(A) Visible outlines
(B) Centroidal lines
(C) Dimension lines
(D) Hidden outlines

(Dashed thin) line is

The waste water from bathroom,
kitchens etc. are called

(A) Storm water
(B) Sewer

(C) Sullage
(D) Garbage

One mile is equal t¢
(A) 1.61km
(B) 1.21 km
(C) 2.61km
(D) 0.61km

144,

145.

146.

147.

148.

00 TR O 0

A plane perpendicular to the HP and
the VP and intersecting both of them is
called

(A) Profile plane

(B) Auxiliary plane
(C) Oblique plane
(D) Inclined plane

connects all the pillars
and serves as the base for construction
of walls.

(A) Column
(B) Plinth beam
(C) Grade beam
(D) Arches

The item of painting is measured in
(A) Cubic meters

(B) Square meters

(C) Kilogram

(D) Litre

If a material cannot undergo a
considerable deformation without
rupture is called ____material.

(A) Elastic
(B) Brittle
(C) Ductile
(D) Plastic

Sl unit of force is
(A} Kg/m?®

(B) Wait

(C) Joules

(D) Kgm/s?
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139.

140.

141.

142.

143.
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THE T THS, TN IWAMS G F IR
) AR FR F R S s R
L hH an s M weam I |

(A) F=

(B) I =i

(C) Whem

(D) T

et F Iee T HISTEA & foIg
I R ST R |

(A) 29

(B) Eaieol ©T%

(C) IRl

(D) =T

(D) ==

T Hid SO 2
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150.

151.
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Height of the store room shall not be
less than

(A) 22 m
(B) 3m

(C) 25m
(D) 3.5m

is the additive identity for

integers.
(A) 1
(B) 0
(C) -1

1
Q) =

The horizontal members supporting the
roof are called

(A) Column
(B) Beam
(C) Staircase
(D) Lintel

10 decimeter equals to
meter.

(A 1
(B) 10
(C) 0.1
(D) 100

The sanitary pipes should be inspected
by knocking with

(A) Stone

(B) Mallet

(C) Glass

(D) Pick axe

154.

1585.

156.

157.

Apipe line installed to provide flow of air
to or from a drainage system in order to
protect the water seal of traps against
back pressure and siphonage

(A) Waste pipe
(B) Soil pipe
(C) Vent pipe
(D) Water seal

The mixing of various constituents of
plaster in proper proportion is cailed

(A) Grinning
(B) Gauging
(C) Fiaking
(D) Hacking

The outer projecting edge of a tread is
termed as

(A) Coping
(B) Riser
(C) Nosing
(D) Going

Flat arches are used only for light loads
and for spans upto

(A) 25m
(B) 1.5m
(C) 3m

(D) 1.75m
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158.

159

160.

161.

162.

The number of steps in a flight should
generally be restricted to a maximum of
and minimum of

(A) 3and 12
(B) 12and 3
(C) 10and 4
(D) 2and 9

Size of the door shutters of 10DT21
door is

(A) 700 mm x 1905 mm
(B) 900 mm x 2005 mm
(C) 900 mm x 1905 mm
(D) 800 mm x 1905 mm

The vertical member of door frame
are called as

(A) Posts
(B) Head
(C) Sill

(D) Horn

is used for fixing back

faces of doors.
(A) Butt hinge
(B) Barrel bolt
(C) Latch

(D) Normadi

Brick masonry is fire
resistant than stone masonry.

(A) Less

(B) More

(C) Equal

(D) None of the above

163.

164.

165.

166.

P 0 O OO A

The termination of a wall in such a
fashion that each alternate course at
the end projects is known as the

(A) Lap

(B) Racking back
(C) Toothing
(D) Perpand

The depth of RCC lintel and the
reinforcement depends upon the

and of loading.

(A) Span, magnitude
(B) Depth, height
(C) Height, depth

(D) None of the above

The distance between two manholes
on straight alignment depends mainly
on the

(A) Diameter of sewer line
(B) Depth of sewer line
(C) Length of sewer line

(D) Height of sewer line

A is suspended to check
the verticality of wall.

(A) Line and pins
(B) Spirit level

(C) Masons square
(D) Plumb bob
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167.

168.

169.

170.

171,

Materials used for damp proofing
course is

(A) Hot bitumen
(B) Bricks

(C) Metal sheets
(D) All of the above

Ladders employed in heavier trades
should not exceed in length.

(A) 2m
(B) 6m
(C) 5m
(D) 8m

The function of timbering or shoring is
(A) To allow the collapse of the
timbering

To reduce the width of trench at the
top to the minimum possibie

(B)

(C) To allow the seepage of ground
water into the trench

(D) Toincrease the width at top

invert portion of manhole is called
(A) Benching

(B) Steps

(C) Sidewalis

(D) Cover

The lower edge of an inclined roof is
called :

(A) Hip
(B) Pitch
(C) Gabble
(D) Eaves

172.

173.

174,

175,

Wherethereis abreakin masonry works,
the masonry should be racked not more
than with the horizontal.

(A) 45°
(B) 90°
(C) 60°
(D) 30°

Bricks should be thoroughly
before laying.

(A) Wet
(B) Dry
(C) Cut
(D) None of these

A systematic arrangement of stones
or bricks in a wall interlocked among
themselves forming a stable mass is
called

(A) Bed
(B) Joint
(C) Bond
(D) Course

If depth of manhole is more than 1.5 m,
then it is called as a

(A) Normal manhole
(B) Medium manhole
(C) Deep manhole

(D) Shallow manhole
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176.

177,

178.

179.

Terrazzo topping consists of a mixture of
parts
of marble powder to which is added a
specified proportion of marble chips.

(A) 3,2
(B) 3, 1
(C) 2,1
(D) 1,3

parts of cement and

The finished pointing should be kept wet
for , when cement mortar is
used.

(A) 10 days

(B) 1day

(C) 14 days

(D) 3days

Before laying concrete, the bed of the
trench must be

(A) Watered

(B) Dried

(C) Reinforced

(D) Filled

Quantity of water in litres per 50 kg of
cement for M20 grade concrete is

(A) 30
(B) 32
(C) 34
(D) 28

180.

i81.

182.

183.

is the projecting omamental
course ysually moulded to add to the
appearance of wall.

(A) Facing
(B) Backing
(C) Coping
(D) Cornice

Walls can be divided into ______ types.
(A) Three

(B) Four

(C) Two

(D) One

The portion of a structure below ground
level is called

(A) Sub structure
(B) Super structure
(C) Walls

(D) Roofs

is a full bricks or stone which
is laid with its iength perpendicular to
the face of the wall.

(A) Closer

(B) Header
(C) Stretcher
(D) Bat
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water is generally used
for cement concrete.

(A) Palatable
(B) Potable

(C) Contaminated
(D) Salt water

Ashlar fine masonry is also called as
(A) Cut stone masonry

(B) Cut brick masonry

(C) Dry masonry

(D) Rubble masonry

Ventilators are sometimes provided
over doors and windows to provide light
even when the door is closed. Such
ventilators are called

(A) Fanlight
(B) Scantling
(C) Modules
(D) Framing

The is the most effective
process of repairing concrete work
which has been damaged due to inferior
work or other reasons.

(A) Moulding

(B) Guniting

(C) Case hardening
(D) Seasoning

Full form of OPC is

(A) Ordinary Pozzolona Cement
(B) Ordinary Portland Cement
(C) Ordinary Portland Concrete
(D) Ordinary Pozzolona Concrete

189.

190.

191.

192,

If moisture absorption exceeds
percent, the cement becomes totally
useless.

(A) 4
B) 2
(C) 5
(D) 1

ax(b+c)=axb+axcis
(A) Commutative property
(B) Distributive property
(C) Associative property
(D) Multiplicative inverse

Suman studies for 5% hours daily.

4
She devotes 25 hours of her time for

science and mathematics. How much

time she devotes for other subject ?
3

A) 2—nh

(A) 5

13
o
®) 15 B

8
P
© < h

1

(D) 2¢h

A car covers a distance of 89.1 km in
2.2 hours. What is the average distance
covered by it in one hour ?

(A) 40.5km
(B) 41.5km
(C) 39.5km
(D) 40.25 km
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What is the circumference of a circular
disc of radius 14 cm ?

(A) 78cm
(B) 68cm
(C) 90cm
(D) 88cm

Diameter of a circular garden is 9.8 m.
Find its area.
(A) 78.46 m?
(B) 75.46 m?
(C) 35.46 m?
(D) 77.46 m?

§17576 =
(A) 24
(B) 36
(C) 28
(D) 26

4 -3 .
Sum of Z and = is

1
35
3
35
1
35
-3
25

(A)
(B)
(©)

)

197.

198.

199.

200.

A is the union of four
line segments that join four coplanar
points, no three of which are collinear
and each segment meet exactly two
other lines each at their end point.

(A) Hexagon

(B) Triangle

(C) Quadrilateral

(D) Pentagon

The ratio of two sides of a parallelogram
is 3:4 and its perimeter is 42 cm. Find
the measure of all sides.

(A) 8cm, 13cm

(B) 6cm, 10cm

(C) 4cm, 14cm

(D) 9cm, 12cm

The square field has area 196 m2. Find
the length of the wire required to fence
it around three times.

(A) 158 m.
(B) 178 m
(C) 168 m
(D) 186 m

units and
units.

Area is measured in
volume is measured in

(A) Cubic, square
(B) Kilogram, cubic
(C) Square, cubic
(D) None of these
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iefigem & fore wewergut argEw

13.

14.

15.

1.

18.

18.

This booklet contains 48 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question orcompletes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be biackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct methed of shading is
given below.

Wreng Method

O&0O0

Wrong Method

Co00

Wrong Method

O@®@00O

Correct Method

000

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should tiacken (®) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than ong circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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18:

16.

17.

18.

18.
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